SSC PART-Il (10th CLASS)

GENERAL MATHEMATICS GROUP-I o) 7
5 5 e = ™
TIME ALLOWED: 2.10 Hours SUBJECTIVE .[Cle £210 =
7 P
MAXIMUM MARKS: 60 HTA =10 - Gy~ 20 60 = Af
NOTE: Write same question number ,.:‘:,E;-;:u.f%.{,;ﬂy.&é @J-gézjswdffu‘v{‘étﬁ}lﬁ oy
and its part number on answer book, as given in the question paper.
SECTION-| il
2. Attempt any six parts. 12=2x6 S felin iz 7 o 24
. ? 437 3y° .
(i FEG=P #=—=J #1 r}me p(=2) 3n p(N =" +—2——y 1 g
then find »(~2)
(i)  What is meant by Mixed Surds? Sl Mo (i)
(i) Muitiply. (2 ++3)(5~+3) (D+BY(5-V3) Yo (i)
(iv) Factorize. 12 - 12t + 36 212t 436 &b ()
(v) Factorize. x* + 2xy + y* — a° 2 TR A ot Y Y ()
(viy If p(x)=x? + 5 -132% =30 _u:’);»,bﬁ_-_-_,ng(“i) ep(x)=x* + 50 1357 =30 (vi)
then find (1) ]
(vi) Define L.C.M. JIB PSPt (il
{vit) Find L.C.M by factorization 2143y, 35a%x*y, 2827 %" % {/ﬁy‘v“dsf,..ih}!:.id;f,:m} (viil)
(x) FindHCF 12p°¢%. 8p%qr>, 4p°d°r 12p%¢%, 8p° qr‘ 4p%¢r _.;/rw(*”w (ix)
3. Attempt any six parts. 12=2x6 vy f...rL!?[.Iﬂ.e?.._J: YA
(i) Sohve 3(2x+5)=25+x 3(2x 4+ 5) =25+ x_iu {i)
(i) Solve. {3x+4j=9 3c+4j=9 &S (@)
(i) Solve the inequality. x — 7 < 5 - 2x x=7<5-2x SESenad i)
(iv) Find solution set by factorization. (1Y S = A 0 e fsdas ()
(v) Solve 2x° =3x 2 =3x &S W)
(vi) i x=3 isasolution Al ok W P i kx415=0 e x=3 S (i)
of a equation x* + kx +15=0. Find the value of 'k'
o -1 2] g . [ ;. )
(viiy If A =[ J then evaluate det( 4) -¢_fr".:~a;‘z,( det(A) A :L ; 1/i {vii}
~3 —4 ? -3 -4
I G .
(viii) Find the transpose of following matrix: 4 = ‘3 :1' E P IG it (vill
| |
(ix} Define Diagonal Matrix and give one example. | Lol s PSS 5 ()

CIRD)




|

4. Attempt any six parts. 12=2x6 -é;foglﬁii 7'g a.fa,f -4 /'}L,HJ’
(i)  Define Equal angles. Sl g ()
(i) Whatis meant by Parallel lines? S bB G55 (i)
(i) Find unknown angles in the figure. LA E i

145°

< 33 —>
: [
>
(iv) Whatis meant by Centroid of the triangle? ?q-fvl:&-ﬂ&?}é:&@ (iv)
(v}  Draw a semi-circle with diameter 4cm and center at 0. -é.b:a?b...ééﬂb,ﬁédp-’/’-f C;”’ 4,0 }fr (v)
(vi) Write the formulae of (i) Area of circle (i) Circumference of a circle -uf’(l.rflif.é..)_’rﬁ-‘”b_;'&;?fm@bﬁ}b {vi)
(vii) Find hypotenuse ¢ in a right triangle, Ut b=4a=3 QLS i e el (i)
withsides ¢ =3 , p =4

(viii) Define Non-Coliinear Points. LSSy PSeA i
(i) Find the distance between the given points. (6, =2, @,<5 P Aeigenl s (ix)

SECTION-II /v

NOTE: Attempt any three questions. 24=8x3 -égfag!ﬁéwlﬁgﬁ;é}( aikad

5(A) Find the value of X+ y3 fx+y=7

(B)

8.(A)

Sy =10 sox+y=7 BgEAd] 2O+ ()5

and xy =10
Resolve into factors. x” + 3% + 2xy — 4x%y? 2+ y* 4+ 20y - 47y bl A (L)
_ 3.3 2 . i B8 2 b id . -~
Simplify. a - L g tab+l a’ — L 4a +ab+b _“é’/;! ()5
a* - p? 2% + 5% g =gt a? + b2

-

1]

Solve. ?(zx #3005 10 i;f
e |

3

Solve by using the quadratic formula. 2x + % = x°

)

2(2x+3)210 - 5335 2J ()
2

2x + .;_ = x? -g.:fx:.:.ug;fgﬁum (-7

. . 2 /4 i i s B U e T .
Draw a circle passing through ~Laihinty Je S bl Jin K5 4 UG &;z_&wcwd}p (<)

the three vertices of an equilateral triangle with length of each side 4cm.

. -1 -3 2 6| » :
(4ABY = B'4 J/u_"f.:,:i‘:’:r B =[ - s A= I ()-8

2 5 -1 -3 :
If 4 = and B = _] then prove that (AB)" = B A’
7 8 | ) 0 ]

Solve the simultaneous equations by using Cramer's Rule. IS el S S (L)

T+ dp =3, xHIp=§

Find the area of a triangie whose SR 134 (12 5 STl P sl (L).9

sides are 5¢cm, 12cm and 13cm.

Show that the points A(1, 4) | BB C(9.8) o B(5,6) « A(1,4) WSSt ()

B(5,6) and C(9, 8) are collinear.
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NUMBER: 3268 SSC PART-II (10th CLASS)

GENERAL MATHEMATICS GROUP-II I ?:f Sl
TIME ALLOWED: 20 Minutes OBJECTIVE u:fef:,e? e 20 = =
MAXIMUM MARKS: 15 15= A

Ao b L3Il N gt i &esi L v g §317 - i D 41 C B A Al -2
4341 -b’L%LJu:?ﬁ}LEILﬂbeJLZ:,E .{)}ﬂ: _.fmy‘.:w..glﬁuﬁtﬁ.w:‘lﬁ..ﬁ Jak i LS et L L2
Note: you have four choices for each objective type question as A, B, C and D. The choice iqﬁf}’;muir
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

/1) A cubic polynomial is of degree: etk '3;,2{,(»/ (1)
(A) 3 (B) 2 €)1 D)0

(2) Factorization of (x +3)% - 4 is: eSH G+ -4 @
W e+D(x+5) BIE-1)E+5) Cx+D(x-5) @Ox-D{x-3) '

(3} The number of methods to find the H.C.F are: -i:,:lp"fu:‘?. )Li.,/?)”l)ﬁ;b (3)
(A) 0 ®) 3 (C) 1 (D)2 )

(4) Forany three numpers X Wixsz Mysza BN z 4 P v x e df @)

Y and z if x>y and y>z thenx>z
(A} Additive property of inequality w=bd%leble7  (B) Multiplication property of inequality 220 Aleiid

(C) Law of Trichotomy (U596 (D) Transitive property of inequality -:.;ﬁ’»"..—:.w.:’téd/.:«bl/,f
(5) Foreach number 'x' the absolute value of 'x' is dencted by: -.{-b“kl,r'/ﬂ;}(c‘—oifb e (8)
(A) X (B) -=x ) |x| (D)0
(6) Quadratic formula is: < Hablan  (6)
2 K Z N oy
(A)iwfb 4ac (8) b i\}g 4ac (©) + "52 B (D) -b :i:\}bz — dac
2g a
(7: Soution setof x* —9 =0s! e fE*-9=0 ()
(A) 19} (B) {9} (C){3} (D) {£3}
o | 5L b A
(8) Matrix | o\ is called: -ty 0o V3| - 8
L N4
(A Scalar Matrix E,J'l?):r’ (B) Row Matrix /& (C) Rectongular Matrix gm}““ (D) Null Matrix 16
(9) InMatrices (48)! = 7 (4B) ' =7 Lluds (9
Ay 47" 8 B! €) B4~ oyaie ' |
{10) The sum of the internal three angles of a triangle Is: -2 byt KU{JUUKJH%CW (10)
(A) 90° (B) 180° (C) 270° (D) 360°
. - - R -~ & [& ;
(11) Aline joining one vertex of a triangle to the mid point -q.twfﬁﬂfsaﬁ;ﬁaﬂuhiéé‘ e gl el (1)
of its cpposite side is called:
(A) Angle bisector L% (B)Altitude (¥ (C)Median &5 (D) Allthese ¢l
(12) Area of square with side 's' is: i o 'S CRSE e (12)
®) s ®) 4s ©) 25 o s* ,
{13) Point on the negative X —axis have negative, e dnf Jﬁ{{f X ¢ (13
(A)Abscissa Luwul  (B) Ordinate 25T  (C) Fraction S (D) None of these 04 tut
(14} The symbol J s called the radical sign of index: -9u£21(ﬁ9&&&k Joek (14)
1
(A) Q B 1 €2 ) 5
(15) (a+bY =7 (a+b)P =2 (15
() @ +b° +3ab(a~-b) (B) o +3ab(a+h)+b

€ a® +b>+3ab (D) @ -3ab(a-b) -




SSC PART-Il (10th CLASS)

GENERAL MATHEMATICS GROUP-I <o/ Sl
TIME ALLOWED: 2.10 Hours SUBJECTIVE UL Za10 = &
MAXIMUM MARKS: 60 60 = A
NOTE: Write same question number el gy Al 2T L,r:/,aiu!/UlrJuQKdli 2

and its part number on answer book, as given in the question paper.
SECTION-l Jsi.o

2. Attempt any six parts. 12=2x6 L peliz 17 ey 24y
(i)  Define a Rational Expression. Zf S5 )
. 8x2}!2 8x2 )2 " " 57 7
(i) Reduce to the lowest terms. < 8°y" AP A i)
12x"y 12x%y
(i) Multiply. (2 ++3)(5-+3) A QB3 i)
(iv) Define a Linear Polynomial. é.ﬂ/"f @ u“_x (iv)
(v) Factorize. @ Bt AR =3 aF e B -éd f (v)
(vi) Factorize. x* + 5x — 14 2+ 5x-14 Zgf )
(vii) Define Highest Common Factor (H.C.F). Ea5 e i
(iil) Find H.CF. 4p2¢’r, 8pqr®, 12p%¢* 4p%4%, 8p%qr’, 12p%¢>. ér#f’!;u (viti)
(ix) Find the Square Root. 49x> + 112xy + 64 i 49x% + 112xy + 64y° é;'.(ﬁ‘w (ix)
3. Attempt any six parts. 12=2x6 Z_x/..,w'[. 7&?’4:.&:( -3/Jlr
(i)  Define Linear Equation. Wite its standard form. f J"J;Lv é.ﬂfuuljwu {i)
(i) Solve. 3(2x —1)=5(x 1) 328 ~1)=5(x-1) AL (i)
(i) Solve. |x+1|=5 x+1]=5 gA&f i)
(iv) Define Quadratic Equation, and give an example. sl é.éffo(ml/&»» (Iv)
(v) Solve, 2x* = 3x 2x% = 3x Q’/U" {v)
(vi) Solve by using factorization. x? =8 — 7x x> =8-1Tx -;,[/U’df,y;), (vi)
(vii) Define Diagonal Matrix. é._ﬂ/i,( T85 (Vi)
. . 2 4 :— 3 =i 2 I ¢
(vii) Find 4’ + B" if A= [ | 5], B= [_ 4 6—‘ fﬁq’)’rﬂ’ A +B {viil)
i g ¥ s i | f 2 1 o | l"’é‘z . ."2 l. q
(ix) Find Muitiplicative Inverse of 4 = i & i) ‘).f"wu AV A= L 5 o (ix)

Ay




4. Attempt any six parts.

(i)

)
iif)
iv)
V)
vi)
vii)
viti)

(i
(
(
(
(
(vi
{
(ix)

-Zfelrlizigef 44 )y

Find the value of » and ¢ angles. -U/p“”u)g 9 s p i i)

Define Straight Angle. S )
Define Obtuse Angle. E P i)
Define the Perpendicular bisector. -éulf-.é; Pl ()
Draw an equilateral triangle with the length of each side 6cm. wHE58 cl'i'{gﬁpf O )
Define Pythagoras Theorem. f - /‘.‘-Ju;i (il (vi)
Find the area of a circle whose radius is 26cm. ST J 26 J1uES ip"".u%/uw (vii)
Find the distance between the points (-4, 3 ) and (2,1) J)pb”.bbdwg (2, 1) (~4,3) b (vif)
Define Collinear Points. e (i

SECTION-II (s

NOTE: Attempt any three questions. 24=8x3 -éfagmiwlﬁ&cdf{ Oy

5.(A)

% a+bve=11 4 a* + b+ =81 .E’éfﬁ/(:h"dofab+bc+ca ()5
Find the value of ab + bc + ca when the values of at + b2+l =81
and a +b+c=11

Use factor theorem to ..c.u"’ A 2w =5x% —x+4  x41 J J fut‘a:.JWIZJ f,f/‘ ()
showthat x +1 s nota factor of 2x° — Sx° — x + 4

Find the HCF of _J/»wc,miﬁf’ W8 X —x? —x -2 s X% +3x% —6x -8 ()8

¥ +3x% —6x-8 and x® —x? - x —2 by division method.

Solve, i 3 6+i§ oL 3+8 6+__-£.J’ ()
3 2 3

Solve with the help of Quadratic Formula ¥(2x+7)=3(2x+7) =0 e :/Zﬁ;uur::{&u» ()7

Construct a square whose one side is 3.5cm. wﬂ{( 3.5 GquKpﬁérlkC'ilfv.(' (<)

- r 307 [2 1] i g

Vv oz ~1 5 6 -3

==
)
w 2
L
[
._}..
—
|
PR
h O
L B
Il

7 1 _
[6 ~3] thenfind w, x, y, z

Use Cramer's rule to solve the simultaneous equations. I e e 3 Mg S (L)
x+3y=1 2x+8y=0

Find the area of a triangle whose sides -t 200cm 150cm « 120cm Lot g S sKali Ll (i)
are 120cm, 150cm, 200cm.

Show that the points AUl e B sGed] C(0,3v3) 4 B(3,0) ¢ 4(=3,0) s/t (L)
A(—3 0). B(3 0) and C(0.3+3) are the vertices of an equilateral triangie.




